restart

with(DEtools) :

odeadvisor(Ecuacion)
[ rational, [ st order, with_symmetry [F(x),G(x)]], [ _Abel, 2nd type, class B]]

intfactor( Ecuacion)
1
2
X
M:=1 —xzy
M:=1 —xzy
N=x(y—x)
N:=¥ (y —x)
ParcialMy = diff (M, y)

ParcialMy := -

ParcialNx = diff (N, x)
ParcialNx =2 x (y —x) — ¥
(ParcialMy — ParcialNx) )
N

G:= Simplify(

G:=—£
X

FactorIntegrante := isolate(int( L, mu) =int(G, x), mu)

mu

1
Factorintegrante === —
X

_> EcuacionExacta = expand(rhs(FactorIntegrante) - Ecuacion)

1 d d
E / E :: —_— —_— — —_— =
cuacionExacta 2 y(x) + ( y(x) ) y(x) —x ( y(x)) 0

_> odeadvisor(EcuacionExacta)

[ _exact, rational, [ Ist order, with_symmetry [F(x),G(x)]], [ _Abel, 2nd type, class B]]

| > restart

>

Ecuacion :=2-x-y(x)--2 —=3-p(x)--3+ (7 —3-xy(x)- iff

-2) -diff (y(x),x) =0
Ecuacion =2 xy(x)* =3 y(x)> + (7 =3 xy(x)?) (% y(x)

|=0

[ > with(DEtools) :

>

odeadvisor(Ecuacion)
[ rational]

_> Factint == intfactor(Ecuacion)

FactInt ==
y(x)

S M= 2:xy-2 =33
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M:=2 xy2 -3 y3
N:=(7T—3-xy-2)
N=7-3 xy2
ParcialMy = diff (M, y); ParcialNx = diff (N, x)
ParcialMy =4 xy —9 y2
ParcialNx = -3 y2

ParcialNx — ParcialMy) )
M

H:= Simplify( (

FactorIntegrante := isolate(int( ﬁ, mu) =int(H,y), mu)

FactorIntegrante := |\ = LZ

Y
MM = expand(rhs(Factorintegrante) -M); NN := expand(rhs(FactorIntegrante) -N)
MM=2x—3y
NN = lz —3x
y

Comprobacion = diff (MM, y) — diff (NN, x) =0

Comprobacion :=0=0
EcuacionExacta = expand(FactInt- Ecuacion)

d
o) e

EcuacionExacta:=2x —3 y(x) + dx

odeadvisor(EcuacionExacta)
[ exact, rational]
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